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      دولة الكويت                                                                                    2012/2011
      وزارة التربية                                                                                     الصف السادس 

     الإدارة العامة للتعليم الخاص                                                                 زمن الإجابة :  حصة دراسية
      توجيه اللغة الانجليزية                             Model (A)                        عدد الصفحات : 3 صفحات

الورقة الأولي ( المفردات / التراكيب اللغوية / الوظائف اللغوية /  أسئلة الكتاب المقرر )
Paper One ( 15 Marks)     
 I- Vocabulary  ( 4 Marks )
A )  From a , b  and c  choose the correct answer : ( 4x1/2=2M)
1. Smoking certainly leads to …………………………   .

a) prize



b) cancer


c) capital 

2. My sister is ………………… to a doctor.

a) old-fashioned


b) educational

c) married
3.  ……………………can destroy cities and villages. 

a) Cures



b) Volcanoes

c) Areas
4. Kuwait has a small ……………………   .

a) tourist



b) population

c) forest  
B )  Fill in the spaces with the correct word from the list : ( 4x1/2=2M)
( racket  - volleyball –idea – prizes – join )
5 – You can't play ………………………….. . You are not tall enough.
6 – We are lucky to ……………………… this club.
7 – Oh, no! My …………………….. is broken. Can I take yours.
8 – Most scientists win great …………………. for their inventions.

II- Structures ( 3Marks)
A ) From a , b , and  c  choose the correct answer : (3x1/2=1.5M)
9- Ali is really good …………………… swimming.
a)in



b) at



c)for
10- Look at this car! It's ……………………. than mine .
a) big         


b) bigger


c) biggest
11- Your friends are on the beach , ………………….?
a)are they

          
b) aren't they     

c) they aren't
B ) Do as shown between brackets : ( 3x1/2=1.5M)
12 – They went swimming in the sea last Friday.    



(Make negative)
  ……………………………………………………………………………. .

13 – Hassan always goes to the club three times a week.    

(Ask a question)
   …………………………………………………………………………….. 

14 – I'm looking forward to (join) the university. 

 

 (Correct)
  ……………………………………………………………………………… 

III- Language Functions ( 4 Marks)
A ) Match the utterances in (A) with their reactions in ( B ) : ( 4x1/2=2M) 

15- I'm sorry, I broke your glasses.

 
 (
) Yes, of course. 

16- Kuwait is a modern country.    


 (
) Thank you.
17- Marie Curie was a great scientist.
 
 
 (
) Never mind.
18- Can I use your car?




 (
) It's beautiful, too. 








 

 
 (
) She should be on a stamp. 
B ) Write what you would say or do in the following situations: ( 2x1=2 m) 
19- A friend says, "I'll spend the next summer holiday in New Zealand." 
        ………………………………………………………………………………….  

20- You don't know the way to the police station. 

        ………………………………………………………………………………….  

IV- Set Book Questions  ( 4 Marks)
- Answer (only five)  questions of the following :  ( 4x1=4 M)
22 –Who was Al- Khawarizmi?
        ………………………………………………………………………………….  
23 – What are the main islands of New Zealand?
      …………………………………………………………………………….……..
24 – What water sports can you enjoy in Kuwait?
       …………………………………………………………………………………..
25 – Where is Mount Cook?
       …………………………………………………………………………………..
26 – Why do you think a computer is an important invention?
      ……………………………………………..……………………………………...
27 – What prizes did Marie Curie get?
       ……………………………………………………………………………………
( Good Luck (
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      وزارة التربية                                                                                 الصف السادس 
     الإدارة العامة للتعليم الخاص                                                             زمن الإجابة :  حصتين دراسيتين 
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الورقة الثانية ( التعبير  / قطعة الفهم  / التهجي  / الخط  و علامات الترقيم )
Paper Two ( 15 Marks )

I- Composition (5Marks )

A ) Answer the following questions to form a paragraph about: 

" Going to the restaurant "

1- Where do you go when you are hungry?

2- Who helps you at the restaurant?

3- What does the waiter give you first?

4- Why does he give you the menu?

5- What do you usually eat at the restaurant?
"Going to the restaurant"
         ……………………………………………………………………………..………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………..……………………………………………………………………………………….…………

…….……………………………………………………………………………...………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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II) Reading Comprehension (5 Marks)
* Read the following passage, then answer the questions below:
 A poor man, who couldn’t read or write, asked for work as a doorkeeper of a hotel. The owner of the hotel said: “I’m sorry, you can’t work here because you can’t read or write.” The poor man was sad. He began to go from house to house selling knives and brushes. After two years, he had enough money to open a shop. He worked hard and the shop grew bigger.

After ten years, the man owned ten shops and became very rich. In the town where he lived, he built a hospital and a doctor asked him to write his name in the visitor’s book. “ I’ve never been to school ”, the man said. “ I can’t even write my name.”  “ What!” the doctor cried, “Can’t you write at all? If you learned to write when you were young, you would be a great man now.” “I don’t think so.” The man said. “ I should be only a doorkeeper.”  
A)  Choose the right word from a , b or  c : ( 4 x 1/2 = 2m )            

1. The man became very rich because he …………………… .
a) worked in a hospital            b) worked hard       
  c) was a door keeper

2.  The man couldn’t write or read because he had never……………………..    .

a) been to school              
b) been to a hotel              c) been to a shop

3. The man was selling …………………………  . 

a) knives and watches      
b)  scarves and brushes    c) knives and brushes

4- After…………..of hard work, the poor man owned ten shops and became very rich.      

a) five years              

b) twenty years              
    c) ten years

B )  Tick  ( √ )  or cross ( x ) :  ( 2x ½=1 m )                                                                                

5.  The poor man wanted to be a doctor.



(
)

6.  The man built a hospital in his town.



(
)

C ) Answer the following questions : ( 2x1=2m )                              

7.  How could the man become very rich?                                                                

………………………………………………………………………………………………

8.  Why  couldn’t  he  get  work  at  the  hotel ?

………………………………………………………………………………………………
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III) Spelling (3Marks)
A ) Fill in the missing letters:  (2×1/2=1M. )

9 -  We don't need gog – les to play  – olleyball. 
a) ..............................................  b).......................................................

B) Write the long / short forms: ( 2 ×1/2= 1M. ) 
10 –      wasn't       = ……………………..………….

11 –     TV            = ……………………………….….

C ) Combine the following: ( 2 ×1/2 = 1 M. ) 
12 - faithful  + ly    =  …………………….………   .

13 – marry   + ed    = …………………………………  .

IV) Handwriting  & Punctuation ( 2Marks )
( A) Copy the following in a good , cursive handwriting  : (1M)

14 – A secret between more than two is no secret. 

     ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

(B)  Punctuate the following: (4x¼=1M)
15-   let s buy a present for hamad 

    ……………………………………………………………………….

( Good Luck (
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